ABC Hoops NYC

Playoff Scenarios
6/3/111

Standings as of Week 7 Week 8 Schedule

1. Wen Bo 6-1 12:00 PM Ponzi Schemers Hangovers
2. Houlihan L. 5-2 1:00 PM Real Ready WNBA
3. Real Ready 5-2 2:00 PM Wen Bo Houlihan L.
4. Hangovers 34

5. WNBA 1-8

6. | Ponzi Schemers 1-6

WB-HL Tie Breaker based on WK8 Results

Tie Breakers Regardless of WK8 Results

Matchup H2H Record Point Diff Winner Matchup H2H Rec Point Diff |Winner
WB-HL 1-1 +1-19 WB WB-RR 1-1 -5 RR
Wen Bo loses by less than 20: WB has tiebreaker based on H2H Point HL-RR 1-0 +9 HL
Differential.
WB-HL [ 1-1 | 0 WB
Wen Bo loses by exactly 20: WB has tiebreaker based on Season Point
Differential.
WB-HL | 1-1 | <-1 | HL
Wen Bo Joses by 21 or more points. HL has tiebreaker based on H2H
Point Differential.
Week 8 Scenarios with resulting playoff seedings
Scenario 1 Scenario 2 Scenario 3 Scenario 4
RR > WNBA RR < WNBA RR < WNBA RR < WNBA
WB > HL WB > HL WB < HL by >20 WB < HL by =20
1 WB 7-1 1l WB 7-1 1. HL 6-2 1. WB 6-2
2. RR 6-2 2. HL 5-3 2. WB 6-2 2. HL 6-2
3. HL 5-3 3 RR 5-3 3. RR 5-3 3. RR 5-3
4. HO N/A 4. HO N/A 4. HO N/A 4, HO N/A
Tiebreaker Situation. Tiebreaker Situation: Tiebreaker Situation: Tiebreaker Situation:
None HL > RR HL > WB WE > HL
Scenario 5 Scenario 6 Scenario 7 Scenario 8
RR > WNBA RR = WNBA RR = WNBA RR = WNBA
WB < HL by >20 WB > HL WB < HL by =20 WB < HL by =20
1. HL 6-2 1. WB 7-1 1. HL 6-2 1. WB 6-2
2. RR 6-2 2. RR 5-2-1 2. WB 6-2 2. HL 6-2
3. WB 6-2 3 HL 5-3 3. RR 5-2-1 3. RR 5-2-1
4. HO N/A 4, HO N/A 4, HO N/A 4. HO N/A
Tiebreaker Situation: Tiebreaker Situation: Tiebreaker Situation: Tiebreaker Situation:
HL >WB None HL > WB HL > WB
HL>RR HL>RR
RR>WB RR>WB
Scenario 9 Scenario 10 Scenario 11
RR = WNBA RR > WNBA RR < WNBA
WB = HL WB =HL WwB = HL
1. WB 6-1-1 1. WB B8-1-1 1. WB 6-1-1
2. HL 5-2-1 2. RR 6-2 2 HL 5-2-1
3. RR 5-2-1 3 HL 5-2-1 3. RR 5-3
4, HO N/A 4, HO N/A 4. HO N/A
Tiebreaker Situation: Tiebreaker Situation: Tiebreaker Situation:
HL >RR None None
Scenario 12
RR > WNBA Real Ready wins and Houlihan L. beats Wen Bo by less than or equal to 20 points

WB < HL by 520

Each team will be tied with a record of 6-2 and each team will win and lose 1 tiebreaker, therefore,

WB
L i

HL > RR

. A six-sided die will be provided.

. The die will be rolled once,

BN =

Hangovers.

. Each of the three teams will be assigned two numbers.

no clear seeding can occur. If this happens, the following will take place after the conclusion of the
2PM matchup between Wen Bo and Houlihan L..

. Whichever team's number is displayed will be the number 1 seed and face the number 4 seed the

5. The two losing teams will face each other as the 2 and 3 seeds. Seeding is irrelevant at that point,

but will depend on the H2H matchup.




